*

* VarMemHander interfacer (J.VMH.S)

*

 dum $BC00

_VMH:Reset ds 4 ; init the VMH

_VMH:ShutDown ds 4 ; shut the VMH down

_VMH:Clear ds 4 ; clear current VM area

_VMH:RetFree ds 4 ; return current VM free space

_VMH:Garbage ds 4 ; clean up current VM area

_VMH:RetUsed ds 4 ; return current really used VM space

; (how much CURRENT vars are using)

_VMH:FindVar ds 4 ; find var in VarInfo/rtn in VarData&StringBuff

_VMH:FindStrLen ds 4 ; just returns Y as length

_VMH:FindNadd ds 4 ; finds, adds value of VarData to current,

; stores new value, returns new value.

_VMH:ZeroArray ds 4 ; VarInfo=data, ALL ARRAYS DELETED

_VMH:ShuffDown ds 4 ; VarInfo=data; VarArray=start of shuff;

; VarData=end of shuff.

; Does an INSERT of sorts - adds 1 to all the

; array values in the range -- VarData becomes

; VarArray

; VarArray=1; VarData=5

; A$(1) becomes A$(2)

; A$(2) becomes A$(3)

; A$(3) becomes A$(4)

; A$(4) becomes A$(5)

; A$(5) BECOMES A$(1)!!!

_VMH:ShuffUp ds 4 ; reverse of above:

; VarArray=1; VarData=5

; A$(1) BECOMES A$(5)!!!

; A$(2) becomes A$(1)

; A$(3) becomes A$(2)

; A$(4) becomes A$(3)

; A$(5) becomes A$(4)

_VMH:StoreMem ds 4 ; store memory VarData/+1 for VarData+2/+3 to

; end of memory space. If unable to, exits with

; SEC.

_VMH:UnStoreMem ds 4 ; reverse of above. Same entry. Does NOT

; check validatiy of entry conditions!

_VMH:HideVars ds 4 ; hide current vmem setup

_VMH:UnHideVars ds 4 ; unhide current vmem setup

_VMH:RetFreeEd ds 4 ; depending on the driver,this returns either:

; - total free space

; - free string space

; - free space in OneDimArray string space

_VMH:StackRst ds 4 ; reset the string stack level to nada

_VMH:StackStr ds 4 ; stack the current StringBuff into memory

; enter with VarData+3 set up as to length

_VMH:UnStackStr ds 4 ; unstack the last stacked string. Exits with

; VarData+3/Y set up

_VMH:LastStackLen ds 4 ; return last stack len in VD+3/Y

 dend
